77 AT R ORI SERT RSB ALG

(111#1% -111#37% )

FH et E}i FHR s *i
204 1,000 [ 111.01.05 | A-¢ Fces ~ HELfcrs ~ 2 B ~ 4 £ ik
20O 1,000 [ 111.01.05 | A-¢ fces ~ HErfers ~ 2 B4 ~ 2 £ ik
2O% 1,000 | 111.01.05 | Ax¢ #c2s ~ A¥pdees ~ 4 B4kt ~ % £ 4o
#Oi 1,000 | 111.01.05 | A¢ 4024 ~ ARt ~ 45408« £ foik
20O 1,000 | 111.01.05 | A:¢ #c2s ~ A¥pdres ~ 4 B4kt ~ % £ 4o
+#O = 1,000 | 111.01.05 | Ax¢ fcBs ~ HEpdees ~ 2 Fdes % 2 3k
20z 1,000 | 111.01.05 | Ax¢ #c2s ~ A¥pdres ~ 4 B4k et ~ % £ 4o
#HOM&E 2,000 | 111.01.06 | Ax¢ 84 ~ EEpfers ~ 4 F5et ~ 4 2 30
¥ Ot 2,000 | 111.02.07 | At ¢ $784 ~ HEpdens ~ 27544 ~ 4 2 §oid
TOF 2,000 | 111.02.07 | A-€ fces ~ HEpfers ~ 2 748 ~ 2 £ 0k
204 1,000 [ 111.02.07 | A-¢ Fces ~ HELfces ~ 2 B4 ~ 2 £ ik
207 1,000 [ 111.02.07 | A-¢ dces ~ HErfees ~ 2 B4k « 2 £ ok
2O% 1,000 [ 111.02.07 | Ax¢ dcBs ~ HEpdees ~ 2 e % £ 3ok
# O 1,000 | 111.02.07 | A-¢ dces ~ HErfees ~ 2 B4k ~ 2 £ ok
20O% 1,000 | 111.02.07 | A:¢ $cBs ~ &¥pfces ~ 4 F#H 4~ 4 £ 4ok
#O = 1,000 [ 111.02.07 | A-¢ Fces ~ HELfCEs ~ 2 BF B~ 4 £ ik
202 1,000 | 111.02.07 | A-¢ fces ~ Fipfees ~ 2 84es ~ 2 £ gk
# Ol 3,000 | 111.02.08 | A-¢ 4ces ~ Fifderes ~ 2 a4kt « & £ i




FP DAY R ARSI RSB ATE

(111#1% -111#37% )

Tt %§§3 Kip® ﬁ;ﬁfg? # i
HO# 2,000 | 111.02.10 | A-¢ 4784 ~ HEpfees ~ 2 5400 & 2 gl
O 15,000 | 111.03.01 EHEA(FHHH)

204 1,000 | 111.03.02 | A:¢ 4c8s ~ AEpdens ~ 4 B4k~ & 2 fodk
20> 1,000 | 111.03.02 | A-¢ fcBs ~ HEpfces ~ 45k es « 2 £ ik
2O% 1,000 | 111.03.02 | A:¢ 4c8s ~ AEpdens ~ 4 B4~ & 2 godk
# O 1,000 | 111.03.02 | A-¢ fcBs ~ HEpfces ~ 45k « 2 £ ik
20O 1,000 | 111.03.02 | A-¢ dcBs ~ HEpdees ~ 4 mdher ~ 4 £ 4ok
#Oz= 1,000 | 111.03.02 | A-¢ fces ~ HErfees ~ 2 B4 ~ 2 £ ik
20z 1,000 | 111.03.02 | A ¢ dcEt ~ AEpgers ~ 4 F4et ~ 4 2 gl
¥ O 10,000 | 111.03.04 | 4§ fres ~ &apfees 2 &0« % 2 fri

"%




